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03 SAt2GH] 90,000 120,000 A30,000
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o FUEZYE AZFH] 6,000,000& 6,000
ORMTFHES =2
359,700& 123 4,317
O3tz dXI0R 2=
1,000,000& 1,000
O2stoll=sla 3I88)| dxtz
45,9003 128 551
O2st=3|& SHY HAES
5,500,000& 5,500
O=stlssl2 29 |22 =2
120,000& % 122! 1,440
O=23ti=32 Hld gxt=
158,900 x 12& 1,907
O=stil=sl2 ANIES22i8 2LHTEAIA
8 Xtz 141,003+ 122 1,703




2M: 2SS
M 25 0l EeRE(2aY 2 /E25H0=)
thel: BHs2 NIEss &Y (SH9 H2)
% s IE]
SA-3Y - SRA(SAH) - MRAY - BES Off &4 OE"EE HusZ
O=3t0il=al2 SHESLM ALY AXE
226,000& 128 2,712
O=2zttl=al2 SHI0IXl FXlI2el
2,250,000& 2,250
O=3stal2t AtR2teld] 7,000,000 7,000
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Al 21,000
01 Al&HI 140,000 140,000
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Al 4,103
02 LB MAHEE 19,540 4,884 14,65
OUIEAL AZAIE FXI2te]
19,540,000 19,540
Jl 13,678
=S 1,759
Al 4,103
2t 2=EH 730,000 1,650,000 A920,000
< 292,000
Al 438,000
402 QI”F X201 & 730,000 950,000 220,000
= 292,000
Al 438,000
02 QI A2 AL E R (0IETHR) 730,000 950,000 220,000
Ozz 22A 2E2 =4
730,000,000 730,000
=S 292,000
Al 438,000
23 E-ZHIAIG (M AL 2F2e)) 900,000 900,000 0
< 360,000
Al 540,000
402 QI+ X201 & 900,000 900,000 0
= 360,000
Al 540,000
02 QI A2 AL E (01X THE) 900,000 900,000 0
OUEAH LHEZ QA HE
900,000,000 900,000
= 360,000
Al 540,000




2A:

EcIpS (el

M AANRSIRL BE - SR(SSHYL2Z/23H)

Chel: 25 2E - 22l GRS
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZoH 2& - 22l N3] 16,480 14,880 1,600

201 er23 | 14,980 12,880 2,100
01 At2teltl 8,420 6,920 1,500
OZ23M AN2SEAE A=<
150,000& * 122 1,800
OS2t HIINHEH ===
120,000 #2504 2 3,000
OZ=Al SEESRL 2&22| ?123 3
o &g 70,0002 x8H #23] 1,120
OEZZAl SEESRL B&22] ?123] 3
o &It ol 500,000 500
OsiRdsty4 &el 2,000,000& 2,000
2 S22l 6,560 5,960 600
OXZEsRHE &JIe=s 80,000& * 122 960
OsteNsHA BETRI(MI| L MEILE
2) 200, 00021128 2,400
ORLHITA X4 2,000, 0002 2,000
OBLARILEHE ®IIQ3
100,000 »12& 1,200
202 04| 1,500 2,000 A500
01 SLHoIH 1,500 2,000 2500
O=ati 2&2tel o 1,500,000& 1,500
ESIM oHEZHIA HiXl & S 134,856 127,840 7,016
Jl 67,428
== 20,228
Al 47,200
307 elztol & 134,856 127,840 7,016
Il 67,428
== 20,228
Al 47,200
02 LB HAHEE 134,856 127,840 7,016
OLEA ==EH HEZHIA HiX
134,856,000 134,856
Il 67,428
s 20,228
Al 47,200
23 Mt STAIE 2F(AEA SHEX ALEH 280,000 300,000 A20,000
2A)
Jl 196,000
== 25,200
Al 58,800
401 A2 HIRL 201 280,000 300,000 /20,000
7l 196,000
= 25,200
Al 58,800




2A:

EcIpS (el

M AANRSIRL BE - SR(SSHYL2Z/23H)
ol 2 2& - 2l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 280,000 300,000 /20,000
OUIEA SHEA HHEXAE 2=(aY)
280,000,000& 280,000
Jl 196,000
< 25,200
Al 58,800
ZHH 28 A XE 55,000 50,000 5,000
= 22,000
[ 9,900
Al 23,100
307 lztol & 55,000 50,000 5,000
= 22,000
== 9,900
Al 23,100
02 LB HANHEE 55,000 50,000 5,000
OMMSSIT AR (M2 HLI= &
ZO0E) 55,000,000 55,000
= 22,000
s 9,900
Al 23,100
Ol 274 d=2IEAML 120,000 100,000 20,000
= 60,000
=S 18,000
Al 42,000
307 21201 & 120,000 100,000 20,000
= 60,000
= 18,000
Al 42,000
02 QIZHEAAEE X 120,000 100,000 20,000
O%x =seidl g=2s4
120,000,000 120,000
= 60,000
= 18,000
Al 42,000
=X CEsMEs2 2Y 77,000 75,000 2,000
307 @I2t01 & 77,000 75,000 2,000
02 QB HANEER 25,000 25,000 0
OLE2=sRk B &85 25,000,000 25,000
05 2IZtAE = 52,000 50,000 2,000
OS2s5RF+R 29 fle
52,000,000 52,000
HZANE0! 85 & XNE 56,670 32,400 24,270
307 el2to| & 56,670 32,400 24,270
02 2IZHBYAIHE A 48,350 24,400 23,950




2A:

EcIpS (el

M AAZIRA EE - S(2L2E/25HH)
Chel: 23 2& - 2el (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAAt=0l 2& &5 29,000,000 29,000
OMTH=0I2ZS| o4 U AZ
19,350,000 19,350
05 git?(& = 8,320 8,000 320
OAXt=01E =2t 2 S
8,320,000 8,320
A s ab QIESA X2 2,800 2,000 800
Il 1,960
== 252
Al 588
307 212+01& 2,800 2,000 800
7l 1,960
= 252
Al 588
04 QIZHHAMAIH 2 £ 2,800 2,000 800
O&Z Mo ALIS YA
2,800,000& 2,800
7l 1,960
= 252
Al 588
NSEst=4 WF A 48,000 30,000 18,000
7l 24,000
= 7,200
Al 16,800
307 @120l & 48,000 30,000 18,000
Il 24,000
= 7,200
Al 16,800
02 2IZHBYAIHE & 48,000 30,000 18,000
OXg a4t WF 48,000,000 48,000
) 24,000
& 7,200
Al 16,800
IgHSTE & SH(2L22/HS) 5,743,628 8,077,426 N2,333,798
Jl 2,039,006
= 119,300
Al 3,408,776
= 176,546
dEHESY 1,450,299 1,552,500 102,201
NELLE(SY) 29 588,148 394,391 193,757
201 er23 | 28,900 12,940 15,960
01 At2teltl 14,400 0 14,400
OSAE 24 AX2
600,000& «2H = 12& 14,400




2A:

EcIpS (el

Hu: LSS Y SH(2ILBZ/AR)
& dEMSSY EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
02 2224l 14,500 12,940 1,560
OF4&E =4 22ldl 500,000& 500
OR4E =4 3323 10,000,000& 10,000
Os4ME t&E2gd| 4,000,000& 4,000
202 0441 1,000 1,000
01 =2LHO4 ] 1,000 1,000
O=LH0bI 1,000,000& 1,000
301 LPENZ 538,248 380,451 157,797
R o= - 2SRSEA3 538,248 380,451 157,797
O=4AE =Uds &Il 6,000,000& 6,000
OS4E 2HHE ZIH]
10,000,000& 10,000
Os4E 22 24l 14,650
o&s 200,000 *7H 1,400
o 2Xt 50,000 *7H 350
o &st=s 300,000& *7H 2,100
oAIto|I3a 400,000& x6H 2,400
o233t 200,000& *7F*23] 2,800
oRmULIS 200,000 *7H*23] 2,800
o Edlold=(SH) 200,000 *7H 1,400
0 E01L= (53 200,0002157%4 1,400
Os4E 4x24 Zo3 6,000, 0002 6,000
OS4Y Aguus=y| 3,000,000! 3,000
OS4E 44+ AJI2Y)
50,000,000 50,000
Os4E 22| 4,000,000& 4,000
Os4AE ol 385,273
o =0(2XI) 4,490,000&x12& 53,880
o0 (&d=) 3,000,000 x5+ 12& 216,000
o tEx=Y 100,000 x2Z 123 2,400
o=JIHE g 500,000& 12 6,000
o BEFItHI 22,490,000 x60%*22] 26,988
oL EIIRUYEEZ
22,490,000 +3.545%+12.81% 12& 1,226
o &Y 22,490,000 x25%+23| 11,245
o &Y Jheta 50,0003 «2ZF 123 1,200
o ZAMZ AL 140,000 *7H*12& 11,760
SN 15,000,000 15,000
o EY(2N) 150,0002 * 122 1,800
oEESE (M%) 120,000 x6 % * 123 8,640
o4l BEE= 269,880,000& *10.795% 29,134
OFAE MXZ&d|
107,500 75 *30 22,575




2A:

EcIpS (el

3 NLHsTE & SC(2L22/H=)
el dEHSs4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=sdE =at| 21,0003 x7 =250 36,750
406 JIEFXHRO0IH 20,000 20,000
01 JIEIXH=0I & 20,000 20,000
OSAME =4 X 223
10,000, 000& x2H 20,000
NEAAE (OH) 29 165,292 440,637 A275,345
201 2= 10,550 16,620 26,070
01 At22t2l] 900 2,220 1,320
O3t=gdo1d d2+J| dxs
60,0002« 12 720
O2t+8 SHEE /et
30,0002 *62] 180
02 S3=gHl 9,650 14,400 A4, 750
Ot+8 =4 3323 5,000,000& 5,000
Ot+E2E 332= 4,650
0 ZHEE R4l 100,000& * 102 1,000
0IFEINE ot Ra
80,0002 122 960
oIt=ZIIE HIIes
120,000« 128 1,440
0It+&IIE K= 250,000 +5E 1,250
301 EtE NS 154,742 423,017 N268,275
Ristd - 2SFS2EYs 154,742 423,017 N268,275
OJ+8 2l 154,742
o=0(2X) 4,629,000 6 27,774
os0 (&) 3,125,430 62 18,753
o tE=g 140,000 6 840
o HERIII 7,794,430 *60% 4,653
oRIEIIRALE=E
46,526,580 +3.545%+12.81%+6 = 1,268
o&d2=¢ 7,348,965 *40% 2,940
oda=g Jtits 80,0002 «6& 480
OR=R= Rl 140,000 2 +6E 1,680
0EX=S 83,000,000& 83,000
o E&E(2XI) 150,000& +6 900
o EdE (M) 120,000& +6E 720
o &gl 1,400,000 «62 8,400
odli 2= 30,884,660 *10.795% 3,334
de|EXHE sS4 696,859 717,472 A20,613
201 er2 3| 1,500 1,840 A340
01 AtR2t2|HI 1,500 1,840 A340
OHM= &AL 28 & X& 1,500,000 1,500
307 @I2t01 & 695,359 715,632 N20,273




2A:

EcIpS (el

M NLHSTE & S4(2SL22/HS)
el dEHSs4 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
02 QI AANEE X 316,700 371,000 /54,300
OZ2%aittElz &8 K&
11,500,000 11,500
OYASHRACLHSUE EX T2
226,200,000 226,200
OZASEUXNEAEANAE &M X
22,500,000 22,500
OdclEXM=Ua &8 K&
48,500,000& 48,500
O&=H=Uz &2& X& 8,000,000 8,000
03 SRIHHEHE2HHI 2 366,649 330,082 36,567
OM=zl 24| 69,720,000 69,720
OHM=zl 2| 296,929
oJlZ2= 190,388
ANSP=E(62 2053)
4,132,400~ 122 49,589
- HE (72 162 8) 3,472,800& « 128 41,674
-HE(TS 14588) 3,316,200& « 122 39,795
- 282 958) 2,560,700« 12& 30,801
- 8a(82 753) 2,377,403 122 28,529
0 ItESE 5,640
- AR=E 60,000& « 122 720
- 2E 140,000& *12& 1,680
- 8% 110,000 « 122 1,320
g 140,000 ~ 128 1,680
- g& 20,0002« 122 240
o2&+d 7,200
- MR2F (39014 100,000& x 128 1,200
- EZ (104 ol4) 200,000& * 128 2,400
(54 014) 150,000& x12& »2H 3,600
0 HEFIHI 19,041
- NR=E (62 2053)
4,132,400 »60%*23] 4,959
8&(7= 1628)
3,472,800 «60%+*22] 4,168
& (72 14538)
3,316, 2003 «60%*23! 3,980
ER(82 958)
2,566, 7002 «60%+*22] 3,081
g (8=2 758)
2,377,400 +60%*23] 2,853
o BUZ A 140,000& x5« 122 8,400
o Mg 2 &H| 10,680
cAR=E 180,000 « 122 2,160
=R 180,000& x2&+12& 4,320




2A:

EcIpS (el

ZH: NYHSTE 2 S8(2AL2B/HS)
el dEHSs4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g2 175,000 =2 » 122 4,200
0=SXHEQE 500,000 +5H 2,500
odli E8& 30,360
- == 12,020,000& 12,020
- A2 11,600,000 11,600
LEEE 3,660,000& 3,660
SHHES 3,080,000& 3,080
o EIMEES 22,720,000 22,720
04 QIZHHAIAIH E X 12,010 14,550 A2,540
OB HISH2AH A
8,420,000 8,420
O=ot IWAZ MBS ASHSHS
3,590,000 3,590
HEHFNE 1,963,679 1,707,581 256,098
Il 539,006
= 74,300
Al 1,173,827
= 176,546
MEWSEHH SEX 392,318 332,700 59,618
202 04l 1,000 1,000 0
01 2LHoIH 1,000 1,000 0
O=LH04HI 1,000,000 1,000
307 el2tol & 301,318 328,700 62,618
02 2IZHBYAIHE £ 218,470 194,200 24,270
OZESEENME Hedlde=sHal &8
A& 29,125,000 29,125
OYASHRIT HEMBRSHE BF X
el 28,405,000 28,405
OZHASENXNEdSH=U 28 NS
96,680,000& 96,680
OLJEEXXIZXIALI(H) MEHFHE
=4 X2 28,710,000 28,710
OLJSEXNXITEHIFII () MK
=8 X2 18,900,000 18,900
Ok & d= dEH=slz= &4
16,650,000 16,650
04 QIZIHAIALE 2 & 172,848 134,500 38,348
OdEMsua 2LYHS
1,344,000& 1,344
OSEZAFIN(ANYHEHF)HE HZ
98,200,000 98,200
OE=AM=2AS M=U=2 i
18,000,000 18,000
O==AIE3SIED|(HH) thal JH=l
51,500,000& 51,500




2A:

:
Hu: UHSIE Y SH(SIALZZ/AR)
Helr dENSAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0iel0lg I+ RS A
3,804,000& 3,804
HEHNSN A M2HH X2 20,040 0 20,040
= 6,012
Al 14,028
307 @12t0| & 20,040 0 20,040
== 6.012
Al 14,028
03 M EHE2SHIEX 20,040 0 20,040
OMEHUSN TSI MM
20,040,000 20,040
= 6,012
Al 14,028
dEHNSZZIY =Y 34,521 12,000 22,521
= 10,000
Al 10,000
= 14,521
307 elzto| & 34,521 12,000 22,521
= 10,000
Al 10,000
= 14,521
02 IHB A HE L 34,521 12,000 22,521
Odgr=sue 28N 20,000,000 20,000
= 10,000
Al 10,000
OMEH=sTZ O 2 (XHA)
14,521,000& 14,521
= 14,521
ARRAHO0IZHE K 340,800 230,000 110,800
) 238,560
< 51,120
Al 51,120
301 EtE NS 340,800 230,000 110,800
Jl 238,560
== 51,120
Al 51,120
01 AR 2EHSHS(RNEXRTHE) 340,800 230,000 110,800
OAZ =% 0l8d X
340,800,000 340,800
Il 238,560
== 51,120
Al 51,120
HEMMEUS XS BHX(2SKIH) 157,286 163,440 3,846
Il 78,643




2A:

M NLHRIE L SH(23L22/HF)
ool dENSAE (SH9 H2)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
Al 78,643
307 gI2Hol M 157,286 153,440 3,846
| 78,643
Al 78,643
03 QIIEHNHE2EHIE X 157,286 153,440 3,846
OUHSAMENSAEA BsXR
157,286,000& 157,286
| 78,643
Al 78,643
QBtMEHS K =X BIXI(Z2SXI) 329,617 214,816 114,801
| 110,099
Al 110,099
= 109,419
307 QI2HOl A 329,617 214,816 114,801
| 110,099
Al 110,099
= 109,419
03 QIZIEHNHE2EHIB X 329,617 214,816 114,801
OMEMSXI S Rt=SH(XHAM) 109,419
0IE=E 12,120,000 12,120
= 12,120
o wEH| 100,000& x12H 123 14,400
= 14,400
o ZBUZAlH| 140,0002 x 12« 123 20,160
= 20,160
o HEFIHHI 2,436,000 +60%* 125 +23| 35,079
= 35,079
0SKXIEQIE 500,000& 12 6,000
= 6,000
odiEE RES 12,528,000 12,528
= 12,528
o EIXAEZ 9,132,000& 9,132
= 9,132
OLBMENSX A 2SR
220, 198,000& 220,198
| 110,099
Al 110,099
HOHQIMEH S X=X BIXI(Z2SXY) 209,116 122,112 87,004
| 78,255
Al 78,255
= 52,606
307 QI2H0| M 209,116 122,112 87,004
| 78,255




2A:
X XH -
o e

el

Ofl &F2H

MEE
Ofl &k2h

78,255
52,606

ry

=E(104 014})

(@]

02
[}
4
o

(@]

Jo
~
Hel
e
Im

o
04
12
il
=z
&

tm
ikl
1A
o
oy

o

4,320,000

100,000« 122

150,000 « 122

2,217, 2002 «60%+5 H +22

500,000 x6H

100,000& x5« 122

50,0003 x5 * 128

140,000 x5 * 122

88,5802 x5 * 12

12,7683+« 123

Al

4

4

1

i

I

W

4

44

T

I

209,116

156,510
78,255
78,255
52,606

4,320
4,320
1,200
1,200
1,800
1,800
13,304
13,304
2,500
2,500
6,000
6,000
3,000
3,000
8,400
8,400
5,315
5,315
6,767
6,767

1

22,112

87,004

in

Al

47,785
33,449
7,168
7,168

29,640

18,145

H

Al

47,785
33,449
7,168
7,168

29,640

18,145

47,785,000

H

Al

47,785

47,785
33,449
7,168
7,168

29,640

18,145

432,1%

454,008

N21,812




2A:

St E
Z

3 NLHsTE & SC(2L22/H=)
Chol: METISAE (ol a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 1,000 1,000
01 2LHoIH 1,000 1,000
O=LH04HI 1,000,000& 1,000
307 el2to| & 429,196 421,008 8,188
02 2IZHBYAIHE A 100,810 108,900 A8,090
OHMINTuNAES 15,000,000& 15,000
OZUMAM=ZUS &H 16,000,000& 16,000
ORMI62l €2d A2 ZHLMFU £
& 4,800,000 4,800
OM172l ZASENX =S LSH SIS
=4 40,585,000& 40,585
ORN27el ZdASEXNXN 0= =
& 6,000,000& 6,000
OHMI445] 8=2ZO0IH=SUHE &M
4,500,000 4,500
o204 ZESEXNX XML HFU =
Egal 5,000,000& 5,000
020243 M=M= UH =X
4,500,000 4,500
020248 Al2X2 ol 42 HSSS el
=4 4,425,000 4,425
03 PIHHEE 22X 319,186 304,108 15,078
OHMIHF=2 =gHl 44,549,000 44,549
OHMIHF2l el2b| 167,508
oll=a 98,433
 NRRF(62452)
2,588,200& ~12& 31,089
ANSUE(T7S1453)
3,329,000 12& 39,948
=R (82653) 2,285,500~ 128 27,426
o EIXHES 12,183,216& 12,184
o ASEXH| 6,480
A= 185,000& * 12 2,220
< APRDHE 180,000& 12 2,160
=22 175,000« 128 2,100
o2&Hrd 3,600
- AR DE(10E014)
200,000 x 122 2,400
FR2(34014) 100,000 * 122 1,200
0 BEFIHI 9,844
CAR=E 2,588,200 «60%*22] 3,106
< ARt 3,329, 0003 «60%*22] 3,995
=22 2,285,500 «60%*22] 2,743
o FAUZAHI 140,000& x32+ 123 5,040
o tE=g 290,000 * 122 3,480




2A:

Hu: UHSIE Y SH(SIALZZ/AR)
ool dENSAE (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
0 SXIZE 500,000 *3& 1,500
o4l B8 BERE= 16,947
- ANE=E 533,670 * 128 6,405
cARLE 509,690& * 122 6,117
R 368,700 122 4,425
OdZ2HMSXN A 12| 17,129
oJlZ2= 2,950,000 2H* 122 70,800
0EIXNES 374,645 x2H 122 8,992
O SN E=DN St =s 300,000& x2E12& 7,200
o HERIII 2,950, 000 x602 H *22] 7,080
o2&+ 3,300
10014t 150,000 « 128 1,800
10E0l4 150,000& +6E 900
304 100,000 6 600
oJIE+E 320,000 122 3,840
o ZHIAHI 140,0002 <2+ 122 3,360
0 SXHEQE 500,000 x2H 1,000
odli EE= 481,535 x2E12& 11,557
04 QIZHHAMAIRH 2 X 9,200 8,000 1,200
O2024 ZASENXZZOHAEXI0HEIITHE]
Dk 5,000,000& 5,000
O2024 2t sOrIAICIEZU =] =
4,200,000 4,200
402 2I2EX=201H 2,000 32,000 /30,000
01 IR SASE X (XHMITHR) 2,000 32,000 230,000
OHULMS 2EEEFL(FRH)
2,000,000& 2,000
SSHSAE &5 L 28 2,329,650 4,728,439 A\2,398,789
Jl 1,500,000
[ 45,000
Al 784,650
SSH=AIE Jletxd 298,600 173,504 125,096
201 er2 3| 600 600 0
01 At2teltl 600 600 0
O=SMHM(FECHEE) RS
600,000& 600
202 04dl 1,500 3,000 1,500
01 2L AL 1,500 3,000 21,500
O=UuHI(MEAL22) 1,500,000 1,500
207 ARl 19,000 19,000
01 H7ESHI 19,000 19,000
OICT &2e AZx g2 H72ES
19,000,000 19,000




2A:

EcIpS (el

Ny UASIE Y SH(SILBZ/AK
el SSHSAIL &5 & 22 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
401 AIEBIZ20HbI 277,500 169,904 107,5%6
01 Al&Hl 277,500 169,904 107,5%
O33HMSAIE RXlI22
250,000,000& 250,000
OMsSAd2 It EH 89
27,500,000& 27,500
SSHSAE &5 L g2 A3 241,050 159,935 81,115
201 B2 AL| 135,600 105,935 29,665
01 ArR222ltl 27,600 27,935 A335
OZ3M=EAIE =85XIHI
5,000,000& 5,000
OBTHSAIL @Bl A20H
1,300,000 12& 15,600
OZSHSAIE 2g AIR22H]
5,000,000& 5,000
OZ3HM=EAIE B2 & UL
2,000,000& 2,000
02 32| 108,000 78,000 30,000
OZ23HMEAE 223 108,000
0Z3NEALE HERF
13,000,000& 13,000
0 BZMSAIE Hot=E23
15,000,000 15,000
0 BSHSAE &II23
80,000,000 80,000
307 gI2Hol 105,450 54,000 51,450
05 QIZtRIEr S 105,450 54,000 51,450
O=ZAHHHUAE 29|
2,000,000& 2,000
OIS EMEE 2|
29,450,000& 29,450
OQX&0 &2 23|
2,000,000 12& 24,000
OFSHETIs2 22| 50,000,000& 50,000
SUIMSAIE =4 L | 40,000 40,000 0
401 AIEHIZL 200 40,000 40,000
01 Al&HI 40,000 40,000
OSUIMSAIE AREX & B
40,000,000 40,000
=Ex WSHOIESE SZMLALS 90,000 0 90,000
& 45,000
Al 45,000
401 Al&HIZ20HY| 30,000 0 30,000
= 15,000
Al 15,000
01 Al&HI 30,000 0 30,000




2A:

EcIpS (el

(u]

3 NLHsTE & SC(2L22/H=)
el SSHSAE &5 &2 28 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&AIZHESY 5,000,000 5,000
= 2,500
Al 2,500
ORSHOIESH B#ZNLBA
25,000,000& 25,000
== 12,500
Al 12,500
405 AHAHE S 60,000 0 60,000
= 30,000
Al 30,000
01 ML ESF SHI 60,000 0 60,000
ORENOESH JlsE2
60,000,000& 60,000
= 30,000
Al 30,000
=X BHUHIMSHE HEAS 1,500,000 1,600,000 100,000
7l 1,500,000
401 AlZHIZ 2018 1,500,000 1,600,000 100,000
) 1,500,000
01 Al&HI 1,500,000 1,600,000 100,000
Ol =4 o
1,500,000,000& 1,500,000
Jl 1,500,000
S22 SSHSAE TAH=EZ JHE 160,000 0 160,000
401 Al HIZL 201 160,000 160,000
01 Al&H| 160,000 160,000
OEAMAHEEZ HYEX 24
160,000,000 160,000
A2t 22/ 2t 22U bt) 520,292 498,431 21,861
[ 40,000
Al 480,292
3 - MSHASX 520,292 498,431 21,861
= 40,000
Al 480,292
ZAEEIXE AILIN =23 3,700 3,700
307 elzto| & 3,700 3,700
04 CIZHHAMAIH 2 & 3,700 3,700
OZJEEIXE AlLIK=E S
3,700,000 3,700
ot ZRSENXE S22 HILIANE 11,880 11,445 435
307 @12t01 & 11,880 11,445 435
04 QIZHHAMAIH 2 £ 11,880 11,445 435
Odatl ZEASEIA T Sse HLAUE
11,880,000 11,880




2A:

M ARSI (2L 22/ 25 2ttt
Cel: 23t HSAMSX EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
dotgf ZARASEXNXE OF2HE 10,000 10,000
307 QI2H0| A 10,000 10,000
04 CIZIHAIAIRIE X 10,000 10,000
OHMiteal g2l ZRAEEXXE oF2U=
10,000,000& 10,000
dotty ZJASENUXNE RLAEFRS 27,000 30,000 A3,000
307 gI2Hol ™ 27,000 30,000 A3,000
04 QIZHHAIAIE E X 27,000 30,000 A3,000
OHNI4z] o4l ZJSEERXE 548 O
CH3l 27,000,000 27,000
Aot 8= S50 HILIALS 12,005 10,000 2,005
307 QI2H0| A 12,005 10,000 2,005
04 CIZISHAIAIRIE X 12,005 10,000 2,005
OHM7al St 8= sSCIHILIAHE
12,005,000 12,005
dot d=22E USRS 26,235 25,200 1,035
307 gI2Hol ™ 26,235 25,200 1,035
04 QIZHHAIAIE E X 26,235 25,200 1,035
OHM102] Z<Hl M=LEWHERIE el
26,235,000& 26,235
ol ER038 8,945 7,200 1,745
307 QI2H0| M 8,945 7,200 1,745
04 CIZISHAIAIRIE & 8,945 7,200 1,745
OHRigal &bl =3l 8,945,000& 8,945
ot dAE =03 2,771 2,771
307 QI2Hol M 2,771 2,771
04 QIZHHAIAIRI E & 2,771 2,771
ORMIZsl o4t EAE s70HE
2,771,000& 2,771
Hotil MEAH SF2UE 29,604 30,000 A3
307 2Iz2+0l™ 29,604 30,000 A3%6
04 CIZHHALAIRIE & 29,604 30,000 A3%
020243 Hotat MEAHH =AU
29,604,000& 29,604
EHx 4ot A2 01etEUS 9,000 9,000 0
307 QI2Hol A 9,000 9,000
04 QIZHHAIAIRIE & 9,000 9,000
020243 Hx=4o A20t2tEWE]
9,000,000& 9,000
==x dotf 82 =T SFU3 80,000 0 80,000
= 40,000
Al 40,000
307 2I2+0l™ 80,000 0 80,000
= 40,000




2A:

K ZH -
oS>

EacIpS(E=gily

HARXI (232 2T/ 25U 2T Ut
|

&?l: 23 MSHAFX (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 40,000
04 QIHHAMAIH 2 £ 80,000 0 80,000
Oz 29t 8= =5 =202l KAl
80,000,000 80,000
== 40,000
Al 40,000
EZAEI| d=ClS0iE 162,000 180,000 18,000
307 lztol & 162,000 180,000 18,000
04 CIZHHAMAMRH 2 & 162,000 180,000 18,000
OHMI32l £ZAIEI| 8= E0UHE
162,000,000 162,000
= 2 T HSAL KX 39,000 39,000
201 fet= 3| 38,000 38,000
01 AtR2tc|HI 38,000 38,000
OZ&FC LEDEE & 10| 33,000,000& 33,000
O&=Uz=l AL 2g & X2
5,000,000& 5,000
202 04l 1,000 1,000
01 =LHAHI 1,000 1,000
O=LH04HI 1,000,000 1,000
X & (STHA) 89,100 99,000 29,900
307 @120l & 89,100 99,000 29,900
04 QIRHHAMAIH 2 £ 89,100 99,000 29,900
Q20248 SotHEXEH 89,100,000 89,100
L& E2U 4,735 5,000 A265
307 212+01& 4,735 5,000 A265
04 QIZHHAIAIH E X 4,735 5,000 A265
ORIzl =&t F-0Ha 4,735,000 4,735
-85 57 F€2 4,317 4,7% VAV¥(®
307 elzto| & 4,317 4,7% A479
04 CIZHHAMAIH 2 & 4,317 4,79% A479
O4d =S =+ 22l
4,317,000& 4,317
Y2 AHI(2SMIS ) (O1EHIIE 30,398 32,948 2,550
=34 30,398 32,948 A2,550
Jl=2&H] 30,398 32,948 A2,550
201 er23 | 21,848 23,948 22,100
01 At2teltl 20,948 22,948 /2,000
ORAMEE AtR2elH] 16,000,000 16,000
OAIRA SAD| gXt=
198,000 x2CH* 12 4,752
OARA TV =88 16,2802« 12& 196
2 S5=2g4l 900 1,000 A100




2A: ZAHS U
ZM: BPSSAL|(SIHSD) OIEHIIEN
=l Jl=3H| (Gt H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ORN2ZE =29l 900,000& 900
202 0idl 3,150 3,500 A350
01 =LHO4b| 3,150 3,500 A350
O=LoHI 3,150,000& 3,150
203 AR F&lY| 4,200 4,200
M EN2LEHRFA| 4,200 4,200
OFA2E JFFA| 350,000& 12 4,200
405 RHaHE S| 1,200 1,300 2100
01 ML =SEFHSHI 1,200 1,300 A100
OAIRa FA40| 2 600,000 *2H 1,200




